2x +4 =10-4x

@ 2x-4x=10+4

® 2x+4x=10-4

@ 2x+4x=-10-4

@ 2x+4x=10+4

® 2x-4x=10-4



© 2x-1=x+4

® 3x+1=3(x-1)
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@D b5x-—1=3x+3 @ x-2=4x-6-x
® 2(x-3)=8x-6 @ —(x-2)=x-2

®1-(x+1)=-2x+2
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DO x+4=44+x-9 @ 4x+9 = 4x
® 10x+4=4x-9 @ 10x+4=404+x-9

® 10x+4=40+x+9
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D 64+x=x+6-18 @ 6x+ 18 = 6x

® 6+ x+18 =6x ® 604+x-18=10x+6

® 60+x+18=10x+6
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@ 2700 — x = 4000 — x

@® 2700 — x = 2 x 2000

2(2000 — x)

@ 2700 — x

® 2700 — x = 2000 — x

® 2700 — 2x = 2000 — 2x
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@ 100x + 1000 = 150x — 1500
@ 100x - 1000 = 150x + 1500
® 100x - 1000 = 150x — 1500
@ 100x + 1500 = 150x + 1000

® 100x — 1500 = 150x — 1000
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® 7,8,-8,1 ® 7,8,-8,-1

® 7,2,-8,-4

® -7,8,-8,1

@ -7,8,-8,-1
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@ x=-1 ® x=1

DO x=-2

® x=3

@ x=2
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@ x=-1 Q® x=4

O x=1

® x=3

@ x=-4
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@ 6x+ 4x = 5x @ 6x+4x=5 ©) g+g:4
x X 6
@1+6—5 @5—1x



@ x+(x+1)+(x+2)=57
@ (x-1)+x+(x+1)=57
® (x-2)+x+(x-1)=57
@ x+2x+4x =57

® x+(x+2)+ (x+4) =57
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